ZIining

e ]
e -_—

00000
KSZHO O

4000000 noy



KSZ-HLI [

LT OO ooodoogd

oogoogoooogoogooboogog
oobgoogoooogoooogood

OoQdogdogdeolt
0000000000000 000KSzO O30 000
bodeon » 1:1 » 2:1 » 3:1

OoodOododododoooon

000000000 OoOoOoOoOooOn
D000 0o00oOoodysd.

HEERN

» DO OO0 QdnQ
» OO QO0Q0oQggng

- » 0OOOOOOOO
OO0 » DO OdOdnd

000500 mmO 00 zZIMMVWZO O » bgoooog.uobgood
gogubodggobodd godubogguboodd




OO

ODoood

........ 0oooO0

MFOOOOOOODO 0o

OO0
000

OO 0OOSTL
ZiMmMO OO 4000

Dogoooogogn




KSZ-HLI [0 [ [

ooooooo

G P
M
I
L L
P P A-A
. ] =
B &l 000
LB te
=t
r:':.'._..
G || F @«
A N
. 0K

oooa

00000 KSZ-H50O 150kN
OOOO @AH7 B C Dj6 Eh9 E1 F G H HI KK L M t N ON t£ t P R S @ U V @z z1 22

KSZ-H-5-L/T 35 3 21 11 4 125 16 3 62 31 60 9 M8 12 M6 10 64 20 68 36 1 65 126 180 50 354 354
KSz-H-10-L/T 40 3 26 14 5 16 20 3 74 3 70 105 M8 12 M8 11 82 25 775 425 15 772 1475 210 594 42 42
KSz-H-25-L/T 42 3 27 16 5 18 22 3 8 4 78 117 M0 15 M8 11 82 25 885 475 15 91° 1645 234 717 62 36
KSz-H-35-L/T 52 4 3 19 6 215 28 3 100 50 98 150 M10 20 M10 15 102 30 114 60 2 102 210 300 86 70 50
KSZ-H-50-L/T 52 4 39 20 6 225 32 3 116 58 110 165 M10 20 M12 20 126 30 124 675 2 126° 2325 330 86 50 70
KSZ-H-100-/T 62 4 45 32 10 35 40 3 160 80 154 235 M12 22 M12 20 126 35 188 94 2 170° 329 470 1065 46 96
KSZ-H-150-/T 62 5 53 38 10 4 50 15 18 925 180 275 M12 22 M16 26 151 40 220 110 2 188" 385 550 1065 46 96




0000000 (1:1,2:1,3:1)
00 Ksz-HO OO OO0 e

ooooao

0 0O O O : EN-GJL-200 (GGL 20)
ogoooo

ooooo
goooooogo
oooooood
gooooodad

o400 00000 1500 RPM
ooooo;oooooooogo
uooooooooo
ooooooooo

OO00o0oo0oon
O0OKsz-HOOOOOOOOODOOOoOOoOOoooo
ogooboooboooboooooooooooooan
oo

gooooobooooooooooooooolnn,2iy,
si1i0gdoooooooobeo 0000 OOKSZ-H

obooobooobooobooooooooooobooo Lo
TUouoooouoooouoooogao

oooo
kg cm?

oooood
NmOOOOO
100 500 | 1000 1500 3000 . L | T __N_____L_ | T |
21 198 198 198 17 31 37

11 0614 0.748 140
KSZ-H-5-L/T 21 14 137 137 135 132 0614 0.748 140 31 37
31 10 10 101 101 10 0614 0.748 140 31 37
i 444 419 40.2 352 287 1855 2422 200 48 6
KSZ-H-10-L/T 21 215 212 27 26.7 26 1.855 2422 200 48 6
31 20.1 20 20 199 197 1855 2422 200 48 6
11 72 71 60 525 42 338 4215 300 72 91
KSZ-H-25-L/T 21 41 40 40 40 38 338 4215 300 72 91
31 34 34 335 335 33 338 4215 300 72 91
11 162 160 155 135 110 11.055 14.055 550 106 141
KSZ-H-35-L/T 21 78 7 76 74 70 11.055 14.055 550 106 141
31 51 51 50.5 50 49 11.055 14.055 550 106 141
11 162 160 158 155 125 11586 16.269 1100 17 214
KSZ-H-50-L/T 21 145 144 143 141 115 11,586 16.269 1100 17 214
31 100 100 99 98 93 11586 16.269 1100 17 214
11 507 466 4555 4505 370 1078 126,074 1600 54 706
KSZ-H-100-L/T 21 410 410 400 400 320 107.8 126.074 1600 54 70.6
31 315 315 313 311 320 1078 126,074 1600 54 706
11 781 7194 7036 680 540 206.407 236.908 2500 821 103
KSZ-H-150-L/T 21 675 670 664 657 555 206.407 236.908 2500 821 103
31 500 497 494 490 435 206.407 236.908 2500 821 103

000 www.zimmscrewjacks.com e

OooOoon

KSZ-H-50-T-1:1

oooon EENE———_—
oo

LOTO OO
gog




000000

L 0O 0000 HKSZ-H

Dododd-H-s0Ksz-H-1o00 OO OO0

goon
OO0000KSZ-H50 10kN

KSZ-H-5
KSZ-H-5
KSZ-H-5
KSz-H-10
KSz-H-10
KSZ-H-10
KSz-H-10

wooooooo

Ooooo0oo Oooo

Z-10-MF-120-66
Z-10-MF-160-75
Z-10-MF-160-90
Z-25-MF-160-105
Z-25-MF-160-105
Z-25-MF-160-105
Z-25-MF-160-122

63B14B
71B14C
80B14B
71B5
80B14B
90B14B
100B14C

ooooo
00 e

oooooo
KUz-19 -11 / 11
KUz-19 -11 / 14
KUZ-24 -11 /19
KUz-28 -14 / 14
KUz-28 -14 / 19
KUZ-24 -14 | 24
KUZ-28 -14 / 28

40000
oooo

8.8

DIN 7991

M8x16
M8x16
M8x16
M8x20
M8x20
M8x20
M8x20

4

oooooo
8.8DIN912
oooooo

M6x20Y
M8x35%
MB8x30Y
M8x35%
MB8x30Y
M8x30Y
MB8x30Y

66
75
90
105
105
105
122

120
160
160
160
160
160
160

200000 30000000000 000000000KSZ-HO00000

O000KSZ-HSO3BOOO0000000000KSZ-H-50 0Z-10-MFJ O

10
15
15
15
15
15
15

80
110
110
110
110
110
110

100
130
130
130
130
130
130

73
73
73
81
81
81
81

354

354

354
42
42
42
42

042
081
088
111
111
111
125

6.1
55
134
227
217
17
217

6.1
55
134
227
217
217
217



KSz-HLO O OO OO

OO000000000O0OOMF(10 )-KSsZ-H25[1 150kN

ooooonoo

O00000O00O00O0OMF-BOO OO OO (MF-P) 20
- KSZ-H 25 to 150 kN ;

200
00004

oooa
00000 KSZ-H25 0 150kN

000000  oooo D%%DQD snomoo oS g

oooo 8.8DIN912

ooooono DIN 7991 oooooo
KSZ-H-25 Z-35-MF-160-111 80B14B KUZ-24 -16 / 19 M10x30 M8x251) 111 160 15 110 130 36 62 26 17 34
KSZ-H-25 Z-35-MF-160-111 90B14B KUZ-24 -16 / 24 M10x30 M8x251) 111 160 15 110 130 36 62 2.6 17 259
KSZ-H-25  Z-35-MF-B+Z-35-MF-P-200 100 B14B KUZ-28 -16 / 28 M10x120 M10x301) 123 200 12 130 165 36 62 36 259 259
KSZ-H-25 Z-35-MF-B+Z-35-MF-P-200 112B14B KUZ-28 -16 / 28 M10x120 M10x301) 123 200 12 130 165 36 62 36 259 259
KSZ-H-35 Z-50-MF-200-116 90B5 KUZ-28 -19 / 24 M10x30 M10x452) 116 200 20 130 165 50 70 41 60 727
KSZ-H-35 Z-50-MF-200-126 100B14B KUZ-28 -19 / 28 M10x30 M10x351) 126 200 20 130 165 50 70 43 60 727
KSZ-H-35 Z-50-MF-200-126 112 B14B KUZ-28 -19 / 28 M10x30 M10x351) 126 200 20 130 165 50 70 43 60 727
KSZ-H-50 Z-50-MF-200-116 90B5 KUZ-28 -20 / 24 M10x30 M10x452) 116 200 20 130 165 50 70 41 60 120
KSZ-H-50 Z-50-MF-200-116 100B14B KUZ-28 -20 / 28 M10x30 M10x351) 126 200 20 130 165 50 70 43 60 120
KSZ-H-50 Z-50-MF-200-126 112 B14B KUZ-28 -20 / 28 M10x30 M10x351) 126 200 20 130 165 50 70 43 60 120
KSZ-H-100 Z-100/150-MF-200-138 100B14B KUZ-38 -32 / 28 M12x40 M10x351) 138 200 20 130 165 46 96 52 160 164
KSZ-H-100 Z-100/150-MF-200-138 112 B14B KUZ-38 -32 / 28 M12x40 M10x351) 138 200 20 130 165 46 96 52 160 164
KSZ-H-100 Z-100/150-MF-B+P-200 132 B14C KUZ-38 -32 / 38 M12x150 M10x651) 161 200 48 130 165 46 96 8.7 160 164
KSZ-H-150 Z-100/150-MF-200-138 100B14B KUZ-38 -38 / 28 M12x40 M10x351) 138 200 20 130 165 46 96 52 160 266
KSZ-H-150 Z-100/150-MF-200-138 112 B14B KUZ-38 -38 / 28 M12x40 M10x351) 138 200 20 130 165 46 96 52 160 266
KSZ-H-150  Z-100/150-MF-B+P-200 132 B14C KUZ-38 -38 / 38 M12x150 M10x651) 161 200 48 130 165 46 96 8.7 160 246

\ooooooo 200000 30000000000 000000000KSZ-HOOO0000




O00000KUZ

000+ 000000
poooooog
ooooooooooo

0000 O DIN 6885/1-P90 OO0 “d”’mm KUZ-45 U, 25,28,32,38,42,45
gou=000o KUZ-09 U,5%6,7,8,9 KUZ-55 U, 28,42,48,55
noo=0odooo oo™ KUZ-14 U,9,11,14 U=00000Kuz-140 19
Ooooaoes, KUZ-19 U, 11,14,16,19 0000000 @6.3mm
oooooooog KUZ-24 U,11,14,16,19,19L,20,24

ooooooood KUZ-28 U, 14,16,19, 20, 24, 25,28 L=00bd

0 0ooo-20°cd +70°CH KUZ-38 U, 25,28,28L,32,38 “oioo) oo o oy oo oy lg e i) g

oooooooooo
0 -30°C +100°C

oooooo
DIN 68850 J 1

€=

ds L1 00 oooo oo oo oo* oooo
0oooo00 p L L1 a = gooo OO e oooo 00 00 oooo o000 .. oooo
KUZ-09 20 30 10 10 R - M4 15 Nm Nm rpm star kg Nm/rad 10%kgm?
Kuz-14 275 4 16 12 - - MB(M4) 48(L5) 3 6 28000  92A A 005 - -
KUz-19 345 51 19 13 12 - M6 48 45 45 20000 55D S 0.14 254 002
KUZ-24 40 66 25 16 17 40 M5 2 73 73 14000 55D S 027 274 003
KUz-28 55 78 30 18 2 - M5 2 17 34 14000 98A S 0.34 2920 01
Kuz38 65 90 35 20 29 60 M6 48 60 120 10600  98A S 09 9930 04
KUZ-45 80 114 45 24 37 . M8 10 160 320 8500 98A S 15 26770 14
KUZ-55 95 126 50 26 45 . M8 10 325 650 7100 98A G 235 48570 25
KUz-60 105 140 56 28 50 - M8 10 450 900 6000 98A G 355 54500 6.1
KUz70 120 160 65 30 59 . M10 17 525 1050 5600 98A G 485 65290 102
KUZ-75 135 185 75 35 67 - M10 17 625 1250 4750 98A G 74 94970 203
KUZ90 160 210 85 40 79 B M10 17 900 1300 4250 98A G 1038 129510 371
1500 3000 3550 98A G 177 197500 84

*A=00S=00006=00

oooono
ooood oo OO0doO1 ooOdoo?2

|— KUZ-24-20/24

e ZIMM Maschinenelemente GmbH + Co KG



U O 0 KUZ-KK

oooono

uoaoooobod

ooooooooooo
ooooooooog
obooooooooboooboooooooa
ooooooooon
goo-o"zMmMOO"0000:
goooooooan
Oo00oodoecd+7o°CcU 0O O -20°CO +100°C

o000 “d”mm
KUZ-KK-16
KUZ-KK-24

19,20,22

KUZ-KK-32
KUZ-KK-35
KUZ-KK-45
KUZ-KK-60

ooooooooooon

U0 0000 0000 toooO

ogn

109
KUZKK-16 32 32 54 21 15 15 12 M4 4
KUZKK-24 42 445 66 25 17 15 16 M5 8
KUZ-KK-32 56 57 98 40 30 2 18 M6 15
KUZKK-35 67 68 114 47 35 2 20 M8 35
KUZ-KK-45 82 85 134 55 40 2 24 M10 70
KUZ-KK-60 102 105 156 65 50 2 26 Mi12 120

*BR=OOOoooooorNoooo

10-*kgm?  CNm/rad ™"
001
0.08
024
051
24

1375 01
3700 02
9917 055
24417 09
33667 16
67667 27

8,9,10,11,12,14,15,16
9,10,11,12, 14,15, 16, 18,

DA

228
Nm

230
Nm

164
315
610

153
568
638

[ [

KUZ-KK-16
KUZ-KK-24
KUZ-KK-32
KUZ-KK-35
KUZ-KK-45
KUZ-KK-60

000 Stars O0000000000000000000000
oDoooo gg @15 @16 @18 @19 @20 @2 D24 @5

™ Nm Nm Nm Nm Nm Nm Nm Nm
KUZKK-16 16 2 19 21 23 26 28 33 32 3 - - - -
KUZKK24 21 £ - - 45 4 45 52 56 60 67 70 74 8 - -
KUZKK32 75 150 65 60 65 76 8 8 98 104 100 120 131 136
KUZKK-35 200 400 108 - 108 - 135 120 162 188 206 216 235
KUZKK-45 405 810 . - . 35 - 38 406 447 483 508
KUZKK60 660 1350 . )

p— q
L& JE %

Ooooo00oo0O0oo
ARSI RS (R oooo oooo oooo
Ftkuzoo OO AO O RODO OO

OO

ao
O0doO1
oodoo?2

000 www.zimmscrewjacks.com e

KUZ-KK-32-20/24

ooo

KUZ-09
KUZ-14
KUZ-19
KUZ-24
KUZ-28
KUZ-38
KUZ-45
KUZ-55
KUZ-60
KUZ-70
KUZ-75
KUZ-90

]

175
301
650
730

772
866

] m‘l‘n
+1
+2
+2
+2
+2
+2
08
0.75
0.75
12
14
15
18

21
22
26

810

242
Nm

854

@45 @48 @50
Nm Nm Nm

10,11, 12, 14,15, 16, 18, 19, 20, 22, 24, 25, 28, 30, 32
12,15, 16, 18, 20, 22, 24, 25, 28, 30, 32, 35

16, 19, 20, 22, 24, 25, 28, 30, 32, 35, 38, 40, 42, 45
25,28, 32, 38,40,42, 45, 48, 50, 55

@55

915 -

960 1029 1097 1141 1250
0O ooooog ooooo
I 0 mm ooo
0.08 1°
0.08 1°
0.1 1°
0.15 1°
012 1°
0.14 1°
0.15 1°
04 05°
04 05°
0.2 0.9°
0.22 0.9°
0.25 0.9°
0.25 1°
0.32 1°
0.36 11°
0.38 11°
042 12
048 12



d H7

000 “d’mm oooo:

VWZ-30  8,9,10,11,12,14, 15,16 oo
VWZ-40 9,10, 11,12, 14, 15, 16, 18, 19, 20, 22 o0

VWZ-60 10,11, 12, 14, 15, 16, 18, 19, 20, 22, 24, 25, 28, 30, 32 oooooo

VWZ-60V 12, 15, 16, 18, 20, 22, 24, 25, 28, 30, 32, 35

VWZ-80 16,19, 20,22, 24, 25,28, 30, 32, 35, 38, 40, 42, 45 oo

VWZ-100 25,28, 32, 38, 40, 42, 45, 48, 50, 55 0 0 0 500mm O 0 O ZIMM VWZL [
TR T R 000o00oO0O0o0oon

10%kgme  10kgmt | e S
VWZ-30 32 32 30 15 15 34 99 M4 4 0.01 0.11 1375 1104 0.14 0.58
VWZ-40 42 445 40 17 15 46 133 M5 8 0.08 0.2 3700 2332 0.36 0.76
VWZ-60 56 57 60 30 2 63 177 M6 15 024 0.8 9917 8292 0.94 097
VWZ-60V 67 68 60 35 2 73 205 M8 35 046 0.8 24417 8292 142 097
VWZ-80 82 85 80 40 2 84 249 M10 70 24 3 33667 29102 298 2
VWZ-100 102 105 100 50 2 97 283 M12 120 6 58 67667 58178 4.62 247

*BR=OOOOOoooo

0000000000000 O0OO0OO0O0O00O00
ooo
0000 0000 | g9 @10 @11 @12 @14 @15 @16 @18 @19 @20 @22 @24 @25 @28 @30 @32 @35 @38 @40 @42 @45 @48 @50 @55 | OO
Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm Nm

Vi 26 28 3 2 KUZ-KK-16
V%Z' 21 4 | - 37 4 45 52 56 60 67 70 74 8L - - - - - - - o . oo . . KUZKK24
el s 150 | - 55 60 65 76 82 87 98 104 109 120 131 136 153 164 175 - - - - - - - - KUZKKS32
wWz-

e | 200 400 | - - - 108 - 135 120 162 - 188 206 - 235 - - 301 315 - - - - - - - |KUZKK35
Ve | aos 80 | - - - - - - 325 - 386 406 447 488 508 568 610 650 711 772 - 854 915 - - - |KUZKK45
Vel es0 | 1380 | - - - - - - - - . - - . 570638 - 730 - 86 914 960 1029 1097 1141 1250 KUZKK60

oooooooooooooon

@ ZIMM Maschinenelemente GmbH + Co KG



oodwvwz -0JO0O0

ooooboooono

3000
2875 1

1
2626 |- S L
2500
2375| p
2250 ——
2125 -
2000 [—— 1T
1875 :
1750 |— -
1625| b

|1

OOoo0oOooodrpmd

_'fr H
et

| TN
250 ) r -
iy ; = o\ Ty g
| | L4 -4 T ’ Ty =
josd ERNRE IEREY SERTRE S A A bWz EwEDY o

e
T8 8 & 8 8 B R G R OFB R OZ

OoooooooooL,ADO0OO0n00O0 mm

/

B - [

tf
-+

ooooooon




/

s

@
vwzi Oooooooooooo (e

"
h

ubooobooouoooooooo
oboobooobooobooooooooooboooooo
vboooboboouooouooooouooobouoooooooooooood oooost
ugboooboooboooboooooooo

LA LA

Z/2

q
Q
====_I\N
|
|
T
[«

oooo oooo oooo oonoo

oooo

o
=

Vs

N

(e

BK || S1 S2 BK

LA

oo A B Z Lwz d1 h
VWZ-30 34 20 44 74 15 302

VWZ-40 46 25 42 76 20 333

VWZ-60 63 40 42 102 20 333 VWz-30 ™ 20 > 2 15 5 o
YWZ:30 34 20 44 7 15 302 VWZ-40 46 2 2 16 | 17 20 | 112
VWZ-40 46 25 42 76 20 332 VWZ-60 63 20 2 2 30 20 154
VWZ-60 63 40 42 102 20 332 VWZ-60V 73 42 2 2 35 30 175
VWZ-40 46 25 42 76 20 332 VWZ-80 84 55 2 2 40 30 220
VWZ-60 63 40 42 102 20 332 VWZ-100 97 65 2 2 50 50 251
VWZ-80 84 55 50 130 30 429 *BK=0O000000

VWZ-40 46 25 42 76 20 332

VWZ-60 63 40 42 102 20 332

VWZ-60V* 73 42 60 130 30 429 VWZ-60-LA1800-25/20S

VWZ-80* 84 55 50 130 30 429

VWZ-60 63 40 42 102 20 333 0o

VWZ-60V 73 42 60 130 30 429 oo

VWZ-80* 84 55 50 130 30 429

VWZ-60 63 40 42 102 20 332 booid

VWZ-60V 73 42 60 130 30 429 ooo0(s=00000)

VWZ-80 84 55 50 130 30 429

VWZ-60 63 40 42 102 20 332

VWZ-60V 73 42 60 130 30 429

VWZ-80 84 55 50 130 30 429

VWZ-80 84 55 50 130 30 429

VWZ-100 97 65 70 170 50 572

VWZ-80 84 55 50 130 30 429

VWZ-100 97 65 70 170 50 572

VWZ-80 84 55 50 130 30 429

VWZ-100 97 65 70 170 50 572

*OO0000oooo..

@ ZIMM Maschinenelemente GmbH + Co KG



0000 STL

O00Oo0vwz
ooooo
0oo0o0ooOoooo
ooooo
00(@)oo
ooooo

-30°CO +120°C

H1

—

S1

| ——

‘J&z/ﬁ

N

oooa
STL15G | 15
STL20G | 20
STL30G | 30
STL40G | 40
STL50G | 50

32
32
40

54

000 wz

ooooovwz

ooooooo

oooa

56
65
825
99
1145

30.2
333
429
492
572

14
14
17
19
22

88 106 127 115 153 047
88 106 127 115 183 059
108 127 152 14 222 11
125 146 175 14 302 185
149 165 203 18 326 27
R G S S
Lwz

WZ-15/74-2P
WZ-20/76-2P
WZ-20/102-2P
WZ-30/130-2P
WZ-40/170-7P
WZ-50/170-2P

15
20
20
30
40

74
76
102
130
170
170

Ooo:

01
019
025
072
167
261

vwzOoOooooo

oooo

oo.

Oo0o0ooooopO




v -
T e
%

Tr=0000 KGT=0000



oot ogni

gobobodzmMbddnoogooooooogon -
obodooogbogoogbob gbogg
obodbobogboogonogbbooogdg
ogogd

-ZIMMO O



ZIining

ZIMM Maschinenelemente GmbH + Co KG
Millennium Park 3

6890 Lustenau/Austria

OO0 O:00435577/806-0

O O : info@zimm.at

U O : www.zimm.com



